B.A. (Hons) Sem-VI Examination 2020
Subject- History (Hons)
Paper- CC XliI
History of the Modern Europe Il (1871-1945)

Time- 3 Hrs. F.M.- 60

The figures in the margin indicate full marks. Candidates are required to give their
answer in their own words as far as practicable.

SAEE RS TEs e TdwReg [Aee ey Sed e 2@

1.Anwer any six of the following questions: 6X5=30
@@ =IC F67F TeF WIS |

a) Trace the circumstances leading to the formation of the Dual Alliance.

S aiTsiae R Toarws Jofa1 FET

b) To what extent did Kaiser William Il deviate from Bismark’s foreign policy?

fIt-a7 o998 Afe @@ IR Foly SIAW Fobl NE ATREN?

c) Analyse the impact of the Balkan Wars (1912-13) on European politics.
EAT FoATe© ¢ J&3fFE Term [Rems 71

d) Account for the success of the Balsheviks in the October Revolution (1917).
AR [EE (55%9) FTACMSFEI THETE FIET (W13 |

e) How would you explain the rise of Fascism in Italy?
el FFEEE X g Ferd TR FAE?

f) Analyse the role of foreign powers in the civil war of Spain (1936-39).

@R R (S»ev-wy) [REP "fems efier e s
g) Analyse the circumstances leading to the formation of the Rome- Berlin- Tokyo
Axis.



@ ToaT TN @H-JAI- GfFe I59% 9Pe @®T o1 [FeET 37

h) Discuss in brief the background of the formation of the United Nations
Organisation.

Sfere SIfesa SToEa (TH6 MG AR FH|

2. Answer any three of the following questions. 10X3=30
FEET feale JeE Ted wa|

a) Was the Berlin settlement of 1878 a satisfactory solution to the Eastern
guestion?

SYIy MEF I IEEE & 9T TOH-7 T@ESas S fRe?

b) Determine the extent of German responsibility for the outbreak of the First
World War.

o g oefag wike famwsrd 97

c) Was the treaty of Versailles (1919) a ‘diktat’?
SR B (S»vp) & 93 a@Efe §fe foe?

d) How did France search for security in the inter-war period?
R Rma I9ae! I ™ Frord AT The FEie?

e) Under what circumstances was the Soviet-German Non-Aggression Pact of
1939 singed? Why did it fail?

@A fRAEfeE sves 97 Cfe@e- Fd AaETa §fe T5Ee @wT? a6 I @ @2



BA GENERAL SEMESTER VI EXAMINATION 2020

Subject: History
Discipline Specific Elective
DSE-Paper IB/I1l A (No Option Offered)
Some Aspects of European History (1789-1945)

FULL MARKS: 60 TIME: 3 hrs

The figures in the margin indicate full marks.
Candidates are requested to give their answers in their own words as far as practicable.
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Ao e o See fite 2

1. ANSWER ANY SIX OF THE FOLLOWING QUESTIONS:
@ @7 230 AT Ted wie| 6X5 =30

A. Analyze the nature of reign of terror during the French revolution.

FAM g I AFEE BT dFfe Resad we |

B. Discuss the importance of July Revolution.
T2 2@ g QEn S |
C. Analyze the effects of February Revolution.
AR e v [Reswe S|
D. What was Mazzini’s role in the Young Italy Movement?
232 Toifer Qe iR o & fee 2
E. Write the effects of Crimean war.
e Jras TeTree SieEn e |
F. How far Germany was responsible for the outbreak of First World War?
22 s o S wittg Fodif e 2
G Discuss the role played by the League of Nations in establishing international peace and security.

T *f® q3e AISTiies fFR=Ie F#E Al o @3 97 9 SAEsa FCE |

H. Discuss Munich Treaty and its significance.
e pfe 8 OoF aFg il FACEADT I |



ANSWER ANY THREE OF THE FOLLOWING QUESTIONS: 3X10=30
@ @9 foqft A7 Teg wis|

How far Continental System was responsible for the downfall of Napoleon?

TR SRCATY &L (CAIfeTaees ot & Fwo! Wil f2e 2

Discuss the main principles of Vienna Congress.
! AR a1 e &fet S St |

Trace the role of Bismarck in the unification of Germany.
GRE G AT [T ST S ST |

Analyze the backdrop of the First World War.

AN fegras (2w Rese e |

How far Hitler was responsible for the outbreak of Second World War?

faer fRreyraa oy fRbers Sl willl foger ?
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B.A. 67 Semester (Honours) Examination, 2020 (CBCS)
Subject: History
Paper: DSE-III

History of Modern East Asia I (1840-1919)
Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
alawq TE FeIrefT YT [eEE |
AN IYTE [eers Oz eF 70 T/
1. Answer any Six of the following questions: 5x6=30
RUSENS R JOlS ((  EROE RN
a) What were the main features of the Canton system of Trade?
B qlferey aiE A el B e
b) Why is the Treaty of Nanking regarded as a landmark in the History of China?
Tfee e ST Bfsaier «fs gorfersd &= J=1 272
c) Why did the Taiping rebillion fail?
wizfere fwmre g zfes @
d) Discuss the nature of the Boxer uprising .
T AP ePfo e Fear
e) Analyse the role of Dr.Sun-wat Sen as a nationalist leader of China.
Bt ereiTeRi (ol RT3 ©, AF-23® (-9 Nl [Rearad Sl
f) How do you account for the fall of the Shogunate in the History of Japan.
ST ORI (Hlle @i oCT TRl SEhl Tl
g) The Meji Restroration marked a sharp break with the past. Do you agree?
T o goTe @ (& @OSIE weited Ak TS FE (7R FeAfRe?
h) Was the Sino-Japanese war of 1894-95 inevitable?
Sr58-5¢ A S-Sl T& & wfeard fezt?
2. Answer any three of the following questions: 10x3=30
NA T I o5 dvaw Tew whes
a) Analyse the various aspects of the Tribute system in China.
B e @9e iR tafRrefe e v



b)

c)

d)

e)

(2]

How far did John Hay’s Open Door note of 1899 reflect the American commercial
interests in China?

Shrdd A & (21 (AT wen e FHCH V& #q wiewfsers AAfifess 714 w6l
effsfere Fafee?

Describe the Salient features of the Japanese Constitution of 1889.

Shbd I A AT ey (Eyafer wieasar e

Trace the background of the Anglo-Japanese Alliance of 1902.

50X HITEH TH-GIH (Nl Ffed ABYN ST Tl

Discuss the causes of the Russo-Japanes war (1904-05).

= S J0@d (3508-0¢) FRAGHET ST FCAT |
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B.A. 67 Semester (Honours) Examination, 2020 (CBCS)
Subject: History
Paper: DSE-III (OR)
History of the USSR-I (1917-1945)
Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
alwq TE FeIrefT YA [eEE |
AT JATET [rers ST TGq 70 3T 1

1. Answer any Six of the following questions: 5x6=30
N (7 (P17 BT ATAT TG Whes

a) What do you understand by the Agrarian Crisis? What was its role in the collapse
of Tsarism?
I 76 F@Ice P T @[ wiFeEs o W3 & i fewr?

b) Who were the Bolsheviks? Account for their success in the October Revolution
(1917)?
IS FIE? ABIRT [T (5939) OIWF ATCENF FIE (FIS|

c) Discuss the relationship between the peasantry and those of the Whites and the
Reds during the Civil War.
R Yo AT FIFWE AN CFS '8 &+ W IS QDA 5|

d) Explain the features of War Communism. Why was this policy abandoned?
T& AW &2l g 391 @3 [ifs @ cAfrere 2wz

e) What do you mean by NEP? Why did Lenin introduce it in Russia?
NEP F&ce gf & @Ri? @ & «ft sif s exeq @

f) Why was policy of collectivization of agriculture introduced in Russia? Discuss its
impact on the peasantry.

AR Flce AeoReTad Aife (@4 e 77 ? FIPE TAF 9T O SCD F9|
g) How did Joseph Stalin Rise to power in Soviet Union?

(ST I FO CTOETS TS FAOR GUARCT?
h) Write a short note on Rapallo Treaty (1922).

Rapallo & (3522) RAW @36 e Bt 14|
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2. Answer any three of the following questions: 10x3=30

WA T @1 o717 eraw Tag wss

a)

b)

c)

d)

e)

Discuss the major causes of the Bolshevik Revolution in Russia.

Aiferar weeifes Rete aqm FRetef arEs <9

Analyse the foreign policy of Lenin.

cIfeieR el Sifs fResiae =

Analyse the causes of Trotsky’s failure in Russian politics.

AR ArEifore Go%FT JLOE FIa A T |

Write an essay on Planned Industrialization in Russia during 1928-1941 CE.

SO-d58Y AR AT “fsslgre Mg 7o uft a3w @)

Under what circumstances was the Soviet-German Non-Aggression Pact of 1939

signed? What was its significance?
@I ~AfERerS So05 A FlfeREe-GINT W@ Ffe FrFe 212 e ey 6
feet?
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B.A. Part-III (Honours) Examination, 2020
Subject: History
Paper-V
History of India (1757-1964)
(New Syllabus)

Time: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words as far as practicable.

alwq STE FeIefT YA [eEE |

AT JATE e ST CeF 70 3¢ 1
Answer any four of the following questions: 5x4=20
N ¢ P B T TeR Whas
Explain in brief the theory of “Drain of Wealth”.
TR oI ©g FCHCo AT F9 1
Write a short note on Titumir.
foefizm T4a «sf 7o Bt @14
Evaluate Vidyasagar as a social reformer.
G FALFFS AT Fmyeneicas Turze <<
Analyse the background and significance of the Lucknow Pact (1916).
FACT GG (dodb) #5of @ wreY e 11
To what extent was the ‘Home Rule Movement’ successful?
(RIS AT TR T RMREA?
How did Khilafat Movement influence the Non -Cooperation Movement in India?
RETPR ST eI OIRes SRR AT dolfe FrARe?

2. Answer any three of the following questions: 10x3=30

a)

b)

RNOA F 1 foals Avas Teq whes

Discuss the causes of conflict between Siraj-ud-daulah and the East India Company.
FraterSrwien @3k 355 Bfea @ iifTa W Reamys Siaesf s o

Discuss the long-term effects of the Permanent Settlement on the socio-economic

condition of Bengal.

e S Amifes Afafzfoa Som Hag@ IwREa AT 2SR DA F |
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c) Assess the role of Raja Rammohan Roy as the harbinger of modernization in
colonial India.
AT ORe SYHFIFAE Tage RO Are ANCNRA AL QINFIF FoHR 4 |
d) Analyze the role of Muhammad Ali Jinnah in Indian politics during 1940-1947.
5580 (AT 5589 PBIN *E TSR AGAINSCS WM W1 ferelizd QN AC 4 |

e) How did Kashmir Crisis originate?

fFeIm e Teme Teofs zrfee?



(3]

B.A. Part-III (Honours) Examination, 2020
Subject: History
Paper-V
History of India with special reference to Bengal (1757-1964 A.D.)
(0ld Syllabus)
Time: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
alwq STE FeIefT YA [eEE |
AT JATE e ST CeF 70 3¢ 1
2. Answer any four of the following questions: 5x4=20
NG 7 17 BIFIG ATIT TG whes
a) What was the significance of the battle of Plassey?
FARNE Jrad ool 6 e
b) What were the consequences of the Famine of 1770?
990 YPHITE FETwA werwe & z@fea
c) Write a brief note on the Regulating Act of 1773.
5499 YHIHT @GTADL TIFO FATE QFT6 DIl 7714 |
d) What were the causes of the Non-Cooperation Movement?
RGN WA FiesfE [ fee?
e) Discuss the main features of the Government of India Act, 1935.
S50¢ YPOAL OIS X FIRCTA AL (IFEST DT 7
f) Evaluate the importance of the Quit India Movement.
OIS BT STACR SF0G JeHR 9 |
2. Answer any three of the following questions: 10x3=30
RNOA F 1 foals Avas Teq whes
a) Write a brief note on ‘De-Industrialization’ in 19t Century India.
T *od TS OR-MHERTR ToF 936 AfHY odqF T 4 |

b) Would you consider the Revolt of 1857 as the First War of Indian Independence?
MWeq TR [ewes ¢ g oRred a2 F&iTel Ia 0 [apa Fa6d?

c) Explain the background of the foundation of the Indian National Congress.



https://www.google.co.in/search?sxsrf=ALeKk03VraUXSjGcqMXYzqC_QWoq2U6CNg:1601364840381&q=%E0%A6%AC%E0%A7%88%E0%A6%B6%E0%A6%BF%E0%A6%B7%E0%A7%8D%E0%A6%9F%E0%A7%8D%E0%A6%AF&spell=1&sa=X&ved=2ahUKEwirtt3z7I3sAhXDmeYKHQliBYkQBSgAegQIDBAr
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OIS T FaA 2P ~Bgf Jrp 4
d) Describe the features of the Swadeshi Movement in Bengal.

QI TR HCWISACTS L8y Il o1 |

e) Evaluate the role of Indian National Army (I.N.A.) in the freedom movement of

India.

©IACSY IOl QT Wem 2w A= e Yo w4


https://www.google.co.in/search?sxsrf=ALeKk03VraUXSjGcqMXYzqC_QWoq2U6CNg:1601364840381&q=%E0%A6%AC%E0%A7%88%E0%A6%B6%E0%A6%BF%E0%A6%B7%E0%A7%8D%E0%A6%9F%E0%A7%8D%E0%A6%AF&spell=1&sa=X&ved=2ahUKEwirtt3z7I3sAhXDmeYKHQliBYkQBSgAegQIDBAr
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B.A. Part-III (Honours) Examination, 2020
Subject: History
Paper-VI
History of Europe (1789-1945)
(New & 0Old Syllabus)

Time: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words as far as practicable.

alwq STE FeIefT YA [eEE |
AN IYTET [eers Oz GeF 70 2T/

Answer any four of the following questions: 5x4=20
MR 7 P BIAI5 YTAT TeA W
Analyse the role of philosophers in the French Revolution (1789).
TR 920 (Savs) wHfema o Rusme 34
Analyse the principles of the Vienna Congress (1815).
O FACAAE (Sbde) 2 eefr i 3 |
Bring light on the direct and indirect results of the Crimean War.
TR Jrad Ao+ 8 ST TP TR ST 9 |
How did Bismarck unify Germany?
e fei wlifaes @ SefReEw?

How far Germany was responsible for the outbreak of the First World War?

A fgrad oy anlife s <A Akt few?

f) Was the Second World War a ‘design’ or a ‘blunder’?
faor g & «fs e ot @ifes o= fm?

2. Answer any three of the following questions: 10x3=30
RNOA F 1 foals Avas Teq whes

a) Bring light on the social condition of France on the eve of the French Revolution

b)

(1789).
TN YT (3ab) AFE FIHF ANEE A T94F ACEAFATS FF |

How far Continental System was responsible behind the downfall of Napoleon?

AT 2ot T QY Fo i W fze1?
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c) What is ‘Metternich System’? Why did it fell?
Bt e 67  ft 94 2@ @2

d) Assess the contribution of Mazzini in Italian Unification.
Boifeid @R W S@mitTs JenRe 391

e) How did Hitler capture power in Germany?

f2bee fFei wHifce Fwel v FEReE?



